



## Markov Process

• Assume exponential failure law with failure rate  $\lambda$ .

 $1 - e^{-\lambda \Delta t}$ 

• Probability that system failed at  $t + \Delta t$ , given that is was working at time *t* is given by

with

$$e^{-\lambda\Delta t} = 1 + (-\lambda\Delta t) + \frac{(-\lambda\Delta t)^2}{2!} + \cdots$$

we get

$$1 - e^{-\lambda\Delta t} = 1 - \left[1 + (-\lambda\Delta t) + \frac{(-\lambda\Delta t)^2}{2!} + \cdots\right]$$
$$= \lambda\Delta t - \frac{(-\lambda\Delta t)^2}{2!} - \cdots$$
Page: 5 CS449/549 Fault-Tolerant Systems Sequence 8

© 2016 A.W. Krings







